

MATH 102.1 (Term 161)

Quiz 6 (Sects. 11.4, 11.5 & 11.6)

Duration: 20min

Name: _____

ID number: _____

- 1.) (4pts) Study the convergence of the series $\sum_{n=0}^{\infty} \frac{\sin(n^2)}{(n+1)^{3/2}}$ and $\sum_{n=1}^{\infty} \frac{\cos(n\pi)}{n}$.
 2.) (4pts) Study the convergence of the series $\sum_{n=1}^{\infty} \frac{(n)!}{(2n)^n}$ and $\sum_{n=1}^{\infty} \frac{n^{11}+2}{n^2(n^5+3)^2}$.
 3.) (4pts) Study the convergence of the series $\sum_{n=1}^{\infty} \left(\frac{1+2\ln\sqrt{n}}{1+\sqrt{n}}\right)^{-n}$ and $\sum_{n=1}^{\infty} \left(\frac{1+2n^2}{n^2+1}\right)^{-2n}$.

1) a) $\frac{|\sin n^2|}{(n+1)^{3/2}} \leq \frac{1}{(n+1)^{3/2}}$
 $\sum \frac{1}{n^{3/2}}$ conv $\Rightarrow \sum \frac{|\sin n^2|}{(n+1)^{3/2}}$ conv

Thus, $\sum_{n=0}^{\infty} \frac{\sin n^2}{(n+1)^{3/2}}$ absolutely converges

b) $\cos n\pi = (-1)^n$
 $\sum_{n=1}^{\infty} \frac{\cos n\pi}{n} = \sum_{n=1}^{\infty} \frac{(-1)^n}{n}$
 Alternating harmonic series
 $\Rightarrow \sum a_n$ converges

2.) $\frac{a_{n+1}}{a_n} = \frac{(n+1)!}{(2n+2)^{n+1}} \cdot \frac{(2n)^n}{n!}$
 $= \frac{n+1}{2n+2} \left(\frac{2n}{2n+2}\right)^n$

$\left(\frac{en}{2n+2}\right)^n = \left(\frac{n}{n+1}\right)^n = e^{n \ln\left(\frac{n}{n+1}\right)}$

$n \ln\left(\frac{n}{n+1}\right) = \frac{\ln\left(\frac{n}{n+1}\right)}{\frac{1}{n}} \xrightarrow{HR} \frac{1}{\frac{-1}{n^2}}$

So, $\frac{n+1}{2n+2} \rightarrow \frac{1}{2}$
 $\left(\frac{2n}{2n+2}\right)^n \rightarrow e^{-1}$

$\Rightarrow \frac{a_{n+1}}{a_n} \rightarrow \frac{1}{2e} < 1$

$\Rightarrow \sum a_n$ converges

b) $a_n = \frac{n^{11}+2}{n^2(n^5+3)^2}$, $b_n = \frac{1}{n}$

$\lim_{n \rightarrow \infty} \frac{a_n}{b_n} = \lim_{n \rightarrow \infty} \frac{n^{11}+2}{n(n^5+3)^2} = 1$

$\sum \frac{1}{n}$ diverges $\Rightarrow \sum a_n$ diverges

3.) a) $\sqrt[n]{a_n} = \left(\frac{1+2\ln\sqrt{n}}{1+\sqrt{n}}\right)^{-1} = e^{-\frac{\ln(1+2\ln\sqrt{n})}{1+\sqrt{n}}}$

$\lim_{n \rightarrow \infty} \sqrt[n]{a_n} = e^{-1} > 1$

$\Rightarrow \sum a_n$ diverges

b) $\sqrt[n]{a_n} = \left(\frac{1+2n^2}{n^2+1}\right)^{-2} = e^{-2 \ln\left(\frac{1+2n^2}{n^2+1}\right)}$

$\lim_{n \rightarrow \infty} \sqrt[n]{a_n} = e^{-2 \ln 2} = 2^{-2} = \frac{1}{4} < 1$

$\Rightarrow \sum a_n$ converges.